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A|B|-A|-B|AANB|AVB|A=B|A&B
11110 0 1 1 1 1
1101] 0 1 0 1 0 0
01 1] 1 0 0 1 1 0
0]0]| 1 1 0 0 1 1

Question 1. Fill the table

Al B|—-A|-B —\(A/\B) -AvV-B —\(A\/B) -AN-B

OO

1
1
0
0

Question 2. Fill the table

A|/B|-A|-B|-(A=DB)| AN-B|-B=-A| (A= B)AN(B=A)
1]11] 0 0
1]10] 0 1
01 1 0
010 1 1
Answers:
A|/B|-A|-B| -(AAB) | -AVv-B|-~(AVvB)|-AA-B
111 0 0 0 0 0 0
110] O 1 1 1 0 0
011 1 0 1 1 0 0
010 1 1 1 1 1 1
Al B|-A|-B —\(A:>B) AN-B | -B= -4 (A:>B)/\<B:>A)
11 0 0 0 0 1 1
1,0 0 1 1 1 0 0
011 1 0 0 0 1 0
010 1 1 0 0 1 1
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